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>  return M;

%
< return fabs(M);

dT., Tstep #HST %
< double H,T,dT;
< int Tstep;
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< dT=0.1;

mEDN—T

< for( Tstep =100; T > 0.1; Tstep--){
< T = Tstep * dT;

< printf("T=%f ¥n",T);
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< // magnetization /= (nspin*nspin);//<m>=<M>/spin
< // energy /= (nspin*nspin);
<// fprintf(fp1,"%5d %8.6f %8.6f¥n",mcs,energy,fabs(magnetization));

for( istep = 1 ; istep <= nmcs ; istep++ )

}
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< fprintf(fp1,"%8.6f %8.6f %8.6f¥n", T,energy,fabs(magnetization));
<mcs = 1;

< magnetization_sum = 0.0;
< energy_sum = 0.0;
< magnetization = 0.0;

< energy = 0.0;
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